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For all subsequent purposes your State Code, Year, District Code, Centre Code and Roll No. shall remain the same

as given on the Admission Card.

2. This Question Paper consists of 100 Questions.

3. All questions carry | mark each.

4. Since all questions are compulsary, do not try to read through the whole Question paper before beginning to answer it
5.  Blank space has been provided for rough-work at the end of each subject.

6. Remember you have to darken the circle of Answer-Sheet by a Blue or Black Ball Point Pen only; do not use a

pencil,

7. Answer to each Question is to be indicated by darkening the circle by Blue or Black Ball Point Pen, the correct
alternative in the Answer-Sheet from amongst the ones given for the corresponding Question in the question-
booklet,

8. Now turn to the next page and stari answering the questions,
9. English version of the question paper will be cansidered as final in case of any dispute arising out of the variation in translation.

N.B.: Do no write on Question-Booklet anything except the State Code, Year, District Code, Centre Code and Roll
No. However, Rough Work can be done anywhere only in the space provided for it in the Booklet.
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1. The subjects of Scholastic Aptitude Test are divided into three groups, as given below :

Subjects covered undar the

Mo. of

Marks allotted to each

SLMNo. | Title of the group pckeie Full Marks | . estions question

(A) f';l'_‘.iEI.lBl'_’. I'E]}-'s'::_::i, Chemistry 40 40 1 (one)
Discipline and Biology

(B) Mathematics Mathematics 20 20 1 {one)

(©) Social Swdies History . Geography, 40 40 1 {one)

and Humanities

Civics and Economics
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(3)




(%) e e oy

(A) SCIENCE DISCIPLINE

(4)




Physics ( Wit )

The circuit shown has 5 resistors of equal
resistance R. Calculate equivalent resistance
across points A and B.
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For an object thrown at 45" to

horizontal, the maximum height (H) and
horizontal range (R) are related as :

(1) R=16H (2) R=8H

(3) R=4H (4) R=2H

For a cell, a graph is plotied between the
potential difference V across the terminals of
the cell and current f drawn from the cell
(see fiz.) The emf and internal resistance of
the cell are E and r respectively, then :

(1) E=2V, r=030Q

(2) E=2V., 1 =040

(3 E=2V, r=0.510

(4) E>2V,.r=040
A simple pendulum has a time period T,
when on the earth's surface and 7, when

taken to a height R above earth's surface,
where R is the radius of the earth.

“ a T'_\ a
The value of ratio T will be :
(1) 1:1 ) 201
(3} 4:1 (4) 2 :-1

1.
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(1) E=2V,r=0.50

2) E=2V.r=040Q

(3) E>2V,r=050

4 E>2V,r=04Q
yH F FAE W 0H G A H EE-H
T, % gedt % #ag @ R FOE W o & T,
& (R= g&ﬁaﬁﬁw}

m‘gma—-fi-zﬁrqﬁam
!
(1 241 (2) J2:1
(3) 4:1 (4) 2:1

(3}




Under the influence of a uniform
magnetic field a charged particle is
moving in a circle of radius R with
constant speed v. The time period of the
motion :

(1) Depends on both R and v

12} s independent of both R and v
(3) Depends on R but not on v
(4) Depends on v but not on B

Two wires A and B have lengths 40 cm
and 30 cm respectively. A is bent as a
circle of radius r and B into an arc of
radius r. A current /, is passed through A
and 7, through B. To have same magnetic
field at the centre, the ratio of I, : 1, is

(1y 3:4 (2325

3y 2:3 (4) 4:3

A machine gun fires a bullet of mass 40
gram at a speed of 1200 ms!. The man
holding it can exert a maximum force of
l44 N on the gun. How many bullets can
he fire per second at the most ?

{1} One (2) Four

(3) Two {4} Three

A concave lens of focal length 30 ¢m
placed in contact with a plane mirror acts
asa:

(1) Convex mirror of focal length 60 ¢cm

(2} Convave mirror of focal length 15 cm
(3) Convex mirror of focal length 15 cm

4} Convave mirror of focal length 60 ¢
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9.

10.

1.

13.

A comet orbits the sun in an elliptical
orbit. Which of the following is constant
throughout its orbit ?

(1) Linear speed

i) Angular momentum
(3) Angular speed
{4) Potential energy

Rainbow is formed due to a combination
of :

} Dispersion and total internal

reflection

(2)

Refraction and absorption

(3) Dispersion and interference

(4)

Scattering and dispersion

A person has D cm wide face and his two
separated by 4 cm. The
minimum width (in cm) of a mirror
required for the person to view his
complete face is :

CYCs  dre

(1) 2 ) e
2 4

(3) Dtd (4) 2-d
1 2

. The horizontal range of a projectile is
added maximum for a given velocity of

projection when the angle of projection is :

{1y 30° (2) 60°

(3) 45 (4) 90°
Parsec is the unit of :

(1) distance (2} time

(3) velocity (4) angle

10.

il.

12.

13.
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14,

Chemistry ( 7@ )

Assertion During digestion with
concentrated H,S0,, nitrogen of the organic
compound 1s converted into (NH),S0,.

Reason : (NH,),50, on heating with alkali
liberates NH, gas.

Read the assertion and reason carefully to
mark the correct option.

{1) Both assertion and reason are true
and the reason is the correct
explanation of the assertion.

{(2) Both assertion and reason are true

and the reason is not the correct
explanation of the assertion.

Assertion is true but the reason is
false.

(3)

(4) Assertion is false but the reason is

lrue.

15. The following is the correct decreasing

16.

order of the ionic radii -
(1) K* > Ca’* > 8 = 01

(2) Kt > Cat > QI > 87
(3) Ca?* > K+t >CI' > 8§

(4y S > ClI' > Kt > (Ca?t

The high density of water compared to
ice is due to -

(1) Hydrogen bond interaction
(21 Dipole - dipole interaction
(3) Dipole - induced dipole interaction

(4% Tadurad dinole - induced dipole

interacrion

[CHE-1]
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17.

18.

19.

20.

21.

Equal volume of molar hydrochloric acid  17.

and sulphuric acid are neutralized by
dilute NaOH solution and x Kcal and
y Kcal of heat are liberated. Which of the
following is true ?

(1) x=y (i K=
(3) x =2y

Ix.’ilhr:

{4) None of these

Propyne and propane can
distinguished by -

(1} Conc, H,50,

{2) Br,inCCl,

(3) dil KMnO,

(4) AgNO; in ammonia

Identify the correct order of boiling 19.

points of the following compounds -
(A) CH,CH,CH,CH,0H
(B) CH,CH,CH,CHO
(C) CH;CH,CH,COOH
(1) (A)=(B)>(C) (2) (C)=(A)=>(B)
(3) (A)=(C)=(B) (4) (C)=(B)=(A)

Excess of KI reacts with CuSO, solution  20.

and then Na,5,0, solution is added to it.
Which .of the following statements is
incorrect 7

{1y Cu,ls s tormed
(2) Cul, is formed
(3) Na,S5,0, is oxidised

(4) Evolved [, is reduced

Which of the following contains 21,

maximum number of atoms -

6.023 x 10%! molecules of CO,
(2) 22.4 L of CO, at STP

0.44 gm of CO,

Mone of these

be 18.
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(B) CH,CH,CH,CHO
(C) CH,CH,CH,COOH
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(3) (A)>(C)>(B) (4) (C)>(B)>(A)
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T § P et i den o 2
(1) 6.023 x 10%! 5] CO,
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(3) 0.44 79 CO,
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22,

23,

24.

26.

Elimination of hydrogenbromide from
2-bromobutane results in the formation of -

(1)
(2)
(3)

predominantly 1-butene
predominantly 2-butyne

equimolar mixture of 1-butene and
2-butene

(4) predominantly 2-butene

Of the isomeric hexanes, the isomer
which can give two monochlorinated
compounds is -

(1) 2, 2 - dimethyl butane
(2) 2 - methyl pentane
(3) n - haxane

(4) 2, 3 - dimethyl butane

Which of the following pair of
compounds cannot exist together in g
solution 7

(1) Na,CO; and NaHCO,
(2) Na,CO, and NaOH
(3) NaHCO; and NaOH
(4) NaHCO; and NaCl

If 0.50 moles of BaCl, is mixed with 0.20
molgs of Na;PO,, the maximum number
of moles of Ba;(PQ,), formed will be -

(1) 0.70 (2) 0.50
(3) D.20 (4) 0.10
During electrolytic production of

aluminium, the carbon anodes
replaced from time to time because -

dre

(1) the carbon anodes get decayed

(2) the carbon prevents atmospheric
oxygen from coming in contact

with aluminium
(3) Oxygen liberated at the carbon
anode reacts with anode to form

Co,
(4) Carbon converts Al,0, to Al

22,

26.
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Biology ( sa-fsm)

27. A plant cell, an animal cell and bacterial cell
share the following structure features -

(1) Cell membrane, Endoplasmic
reticulum and Vacuole

(2) Cell wall,
Mitochondria

Plasma membrane,

(3) Cell wall, Nucleus and Cytoplasm

(4) Plasma membrane,
Ribosome

Cytoplasm,

28. The average temperature of earth is fairly
stable as compared to the moon. This is
because of -

(1) Biosphere (2) Lithosphere

(3) Awmosphere (4) None of the above

29. Which of the following statement is true
about the "Law of Segregation”.

(1) Law of Segregation is the law of

purity of genes

{2} Alleles separates from each other
during gametes to genesis

{3) Segregation of factors is due to
segregation of chromosomes
during Meiosis

41 All of the above

0. Most fishes do not sink in water due to
the presence of

() Swim bladder

(1) Air bladder

(IIT} Air sacs

(IV)Air in spongy bones
[ & II are correct

(2) II & III are correct

(3) Il & IV are correct

(4) L. II & 11 are correct

[BIO-1]

27. 9RY i, g AR o Sty SR §
w8 HOEAE W B9 § 9E AR E O @l

e g -

(1) #ifir e, smeell o oo
TEAF |

(2) Fiww &, @ et §
g |

(3) wiivEm [, $=F T FiEEs |
(4) = Ryetl, SifemmEs T wEEEm
28, = OH OTE A 9 W oAE o e
R T ® | EHd T geen

(1) g g2 (2) & g3

(3) =g Hew (4) =g @ TH
29, T A B W a0 UaEET et %
et e
(1) yommst & Rrsia & o # gz
% ftraid & 1
(2) g e ¥ Rl oum 0 ¥
(3) oy fawom & 7o PRET & e
fw—mﬂmﬁzﬁfﬂ%gmﬂmﬁm
B
- (4) I9iEE T A
30. oleElsT weleE 9l A T g ¥ 1 g gen
FRO & B e wvEmel i gl -
(I) 9w
(Iy argned
(TII) rgrsT
(IV) TG affeerdl ¥ weft arg
(1) Tawnad &
(2) Il aem @81 €
(3) eIV &é & |
(4) 1, I1 e 11 =1 &

(11}




31. In most mammals testis are situated
outside of the abdominal cavity, because-

(1) More number of Sperms are
produced in scrotal sac.

(2) Longivity of sperm is enhanced.

(3) Sperm in scrotal sac requires
lesser temperature for efficient
fertilization.

(4) Sperm in scrotal sac and higger,

32. The gene for the genetic disease
"Haemophilia” is present on the 'X'
chromosome. If a haemophilic male
marries a normal female, what would be
the probability of their son being

haemophilic.
(1) 50% (2) 100%
(3) Nil (4) 3:1
33. Populations are said to be sympatric
when -

(1) Two populations are physically
isolated by a natural barrier,

(2) They live together and freely
interbreed to produce sterile
offsprings.

(3) Two populations share the same
area/environment but do not
interbreed.

(4) Two populations are isolated. but
occasionally come together to
interbreed.

34. Pollen grain of a plant (2n=28) are
cultured to produce callus tissues by
tissue culture methods. What would be
the chromosome number in the cells of

callus.
(1) 28 {2) 21
(3) 14 (4) 56

31.

32.

33.

34.
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35.

36.

37,

38.

Cells vary in their size. Arrange the
following cells in an ascending order of
their size and select the correct option
among the following.

(I) Mycoplasma (II) Ostrich egg

(IIIYHuman RBC (1V)Bacteria

(1) LAV, OLI1 (2) 1,18 101, IV

(3) ILLILIV (4 IIL L, I1, IV
Many elements are found in living
organisms either free or in the form of
compounds., One of the following is not
found in living organism.

(1) Magnesium (2) Iron

{3) Sodium {4}y Silicon
During Photosynthesis one Co, molecule
is fixed through Calvin Cycle. This
process requires -

(1} One ATP and Two NADPH,

(2) Two ATP and Two NADPH,

(3} Three ATP and Two NADPH,

(4) Two ADP and One NADPH,

A piece of DNA contains a total of 1200
nucleotides out of which 200 are adenine
bases. How many cytosine bases are
present in this segment of DNA .

(1) 200 {2y 400

(3) 600 (4) 100

36.

37,
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39. Figure below reflects the blood circulation
system in the human body.

RIGHT LEFT
<—{HUMAN BODY}——

Which of the path contains oxygenated
blood.

(1) T&II only

(2) I1& 1T only
(3) 1& Il only
(4) I, II & IIT all

40. The following diagram shows a simple
version of energy flow through food web.

Sunlight

Plants
C—»Animals

Decomposers

Ly

What happens 1o energy having the
decomposers ?

(1) It is used by the decomposers itself.

(2) It is reflected from the surface of
earth.

(3) Itis lost as heat

(43 Tt is used in natural Biocomposting.

[BIO-4]
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41.

43.

44.

46.

Mathematics ( wig ) [MTH-1]

L . » s & : . _qu

I'he unit digit in the expression 55" +
53

?35Hm + 123'3 15 -

(1) O (2) 4
(3) 5 (4) &
T 17 19
. The val Pttt — .+ ——+—— is
e T et R a R
(1) 0.95 (2) 0.98
(3) 0.99 (4) 1

For real y, the number of solutions of the
equation Jy+3 + Jy = lis... ...

(L) O {2) 1
(3 2 (4) 4
The polynomial, f(x)=(x-1)"+

ix-2}2+{1-3}3+{:~;-4f has minimum
value, when x=

(1) 40 (2) 2

L)

If the roots of the equation x*+2px +q=o0
p ey

and x"+2qx+p=o differ by a constant

and p#q, then the value of p+q is

(1) -1 (2) 1
(4} None of these

If Sin8 <+ SinllEI:I, then Cos'?g+
3i3usluﬁ+3{3usaﬂ+Cn$t’E]—. .......

(1) Sinf (2) Cosh

[3,:' ﬂ (ay |

41. E[rﬁ 55?35 7+ ?353]” + 22&53 ﬁ ézﬁrﬁl- 2

FHE....... g
(1) 0 2) 4
(3) 5 @) 6
12. ;+%+ﬁ+T%+% A %
(1) 0.95 (2) 0.98
(3) 0.99 @) 1

43, }-%mﬁrﬁﬁemﬁf%ﬁmmﬁmq’m+
Jy = 1% &t %t den.... 2nf

(1) 0 (2) 1
(3) 2 (4) 4

H. TR AX)=(x-1)"+(x-2* +(x-3)* + (x4)2 7

45. a7 iy x:-l--lpxi g=o0 T x1+qu+
p=ﬂ$‘3ﬁfﬂ-ﬂﬂ?ﬁﬂﬂ?ﬁiﬁp¢qﬁﬁf
p+q % q4....... B0 -

[ | (2} 1
3) 2 (4) % 7 FE 78

46. 3f& Sin® + Sin’9=1 T Cos'’o+
3Cos""043C0os%0 +Cosfig =

(1) Sin® (2) Cosb

(3) 0 (4) 1

(16)




47.

48.

49.

1.

100
numbered 1, 2, 3,......., 100 one ticket

From a bag containing tickets
is drawn. If the number on this ticket is

o ! .
X, then the probability that x + T}E 15..

{1y 0 {2y 0.99

{3) 1 (4) None of these
For which value of K the system
of equations 3x+y=1 and (2k-1)x+

(k-1)y=(2k+ 1) has no solution
(1) -2 {2) +2
(3) -3 (4) +3

If the vertices of a triangle are (1,2), (4,-6)
and (3.5) then

(1) triangle is right angled

(1) the area of triangle is 12.5 sq.units
(3) the points do not from a triangle
(4) none of these

In a AABC, D is the mid-point of BC and
E is the foot of the perpendicular drawn
from A on BC. If ED=x, AD=p, AE=h
and BC=a, then W ardetit=

(1) p’ (2) 2p°
dp* (4) None of these

Two circles of radii r, cm. and r, cm.
(r,>r,) touches each other internally.
The sum of their areas is TA® cm” and the
distance between their centres is d cm.,
then -

(2) A<d

(4) A>J2d

47,

49,

51.

IMTH-2]
0% O H 100 e ¥ T oy e omar 2

s 1, 2, 3,......., 100 g7 | 299 &
fwe e o, Feam s o x & @

(1) 0 (2) 0.99
3) 1 (4) &9 ¥ F 7

K% 50 99 3 i @dfietor gl 3x+y=1
AT (2k-1)x+ (k-Dy=(2k+1) # Fif @ 257 7
&l

(1) -2 (2) +2

(3) -3 (4) +3
TF BT % 09 (1,2), (4,-6) T (3,5 F @

(1) Frgs g B 2

(2) B # dEwd 12.5 7 g3 &
(3) fag P 8 o ¥

(4) T & 3§ T

AABC #, D 7eg-fdg B, 491 BC % 6 A &
BC W ®F T &g & % fig E & 1 R

ED=x, AD=p, AE=h @ BC=a, @
Ehj—l—EcZ-aI:_"_...,.

(1) p 2) 2p°

(3) 4p° (4) 7 ¥ FiE TF

&1 g Pt B e, AL o A
(r,>r,) &, % qat # orm wd w0 B
% fosal W A TAZ A% 2% od 3% 31

A A gt AR, B A -
(1) A>d (2) A<d
(3) A2 >d 4) A>J2d

(17)




5Z. ABCDisarectangle such that AC + AB=5AD

and AC-AD=8, then the area of rectangle
ABCDis

(I} 36 sq.units (2) 50 sq. units
(3} 60 sq. units (4) cannot be found

- A triangular field, having grass, has
sides 20m, 34m and 42m respectively.
Three horses are tied to each of the
vertices with a rope of length 7 m. each.
The horses start grazing the field. The
arca of the portion of the field that is

7

ungrazed by the horses is.......m°
(1) 250 (2} 233
(3) 258 (4} 259

A cube of side 12 cm, is painted blue on al] the
faces and then cut into smaller cubes each of
side 3 cm. The total number of smaljer cubes
having none of their faces painted blue will be

1y B (2) 12

=

(3) 16 (4) 24

- The ratio of the roots of the equation
ax“+bx+c=0is same as the ratio of the
roots of the equation p_u;1+qx +r=0. If
D, and D, are the discriminates of
ax’+bx+c=0 and px3+qx+r=ﬂ
respectively then D,:D, =

I = (23 h.l
P p
o2
{(3) reege (4) None of these
r

th
Ly

[IMTH-3]

52, T AT ABCD ¥ AC+AB=5AD m

AC-AD=8 & &9 ABCD %7 89%7 5.,
(1) 367 g9  (2) 507 za
(3) 607 e (4) I Frew 9y

TF PR 4 F 5 1 g #me: 20
W, 340 wg 429 § | F @i 2 skt qv
7 A W A | oA W R S u e
o g ¥ o il B oA 9% MU R gy
BBt B, 2

(1) 250 (2) 255
(3) 258 (4) 259

1281 o1 3 o o7 & o gt 57 T o &

T | v g8 9 o e R

T A 3 WAL B | T 8w o g e,
(STt 1 i 7 +fie = o B A=A

(1) 8 (2) 12
(3) 16 (4) 24

F&dme FHTT ax’+bx+c=0 ool & S
ol faer T pxl+qxr=0 & Tl &
I W & | 3R D, &t D, whwm
ax’ +bx+c=0 &t pxl+gx+r=0 & Flaw
& & D;:D, =

o
-

]

(1) <8 @ -2
p q’

(3) < (4) 598 ¥ i
5

(18




56.

Al

58.

i,

A conical shaped container, whose radius of
base is r cm. and height is h em., is full of
Water. A sphere of radius R is completely
immersed in the container in such a way
that the surface of sphere touches the base
of the cone and its surfaces. The portion of
water which comes out of the cone is, . .

2 2
(ly -8 @)L
rh R™h
" L]
2N (4) i;__
r*h R’h

The arithmetic mean of 10 observations is
12.45. If each reading is increased by 5 then
the resulting mean is increased by

i1y 3 {25 29

(3) 0.5 (4) 50

20 women can do a job in 20 days. After each
day one woman is replaced by a man or a boy
alternatively, starting with a man. A man is
twice elficient and a boy is half efficient as 4
woman. The job gets completed on. | day.

(1) lo6th

iath

(3) 20th (4) 24th

In AABC, ZB=90" and points D and E
divide BC into three equal parts. If
3AC*+5AB =p AEZ thenp=.......

(1) 2 (2) 4
(4) 8

(31 A

The mode of observations 1 12..8.5. B,

4,.9.10,8,9,7,9,6,5,9is
(1) 7 (2) 8

(3 O (4) 12

56.

60.

[MTH-4]

UF UH §% ® AFT H o2 d oomaw &
B or B o SEE h A &) o O
T F o e g ¥ o e g am #
 THT ST T g U ¥ 3w ooy o
TR WE 9% § oMW 09 wael 9 med T |

U AR A R e . BN |
R? r?
(B =2 2
} r'h }th
4R’ 4r’
3) —— 4 —=
@) r*h @ R-h
10 HEaret & ae 12.45% | 97 0ivs deq § 5
I 3 T & o o A e @A
(1) 5 (2) 29
(3) 0.5 (4) 50
20 wiewr o B 20 B 30 B 1 oo e

% Hiew w A-arl # o 06y @ o e @
T [ T ®, yeen ey & A6 ® 1 o gew

1 B O Aiew 3 g o o g
ST | G &

(1) 16% (2) 183

(3) 20§ (4) 243

AABC #f /B=90° % wd g D 3t E: BC #t
THERET F & 1 2 3ACT45AB =p AE?
#p=.......

(1) 2 (2) 4
(3) 6 (4) 8

et 7, 12, 8,5,6,4,9, 10, 8,9, 7. 9, 6.
5.9 F agTs
(1) 7
(3) 9

(2) 8
(4) 12

(19)
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History ( sferr)

61. Mazzini, the founder of
conducted the slogan

young [Italy,

(I) God

(IT) The Revolutionarjes
(LIT) People
(IV)ltaly

(1) I,1Mland 11T (2) 1. I and [V
Ll and IV (4 IT, IIT and IV

62. The credit for Unification of Italy goes to -

(I) Cavour (I1) Mazzini
(I Markham (IV) Garibaldi
(1Y 1. 1 and IV (2) L, 11 and I1]

(3) L, Il and 1V (4) II, 1T and TV

63. Which of the following statements relating
to Russian Revolution are correct ?

(1) The rule of Czar Nicholas IT was
oppressive

(II) Czar was under the influence of
his minister Plehve

(III) The minorities sided with the Czar

(IV)Russian Revolution occurred only
in March 1917
(1) IandIIl (2) Tand IV

{3) land]l (4) II and I1I

"
- |

[HIS-1
61. 7T ge5i % Hees ARE 3 A e -
() gsax
(1) =it
(1) 577
(IV) ge=it
() LUdm @ L ndriv

(4) 11, I v IV

62. Tt W wHE H A e d -

(3) I, 11TV

() Fax (IT) Afreit
(III) Hreem (IV) mftarest
() LUATIV @2 I, 1dr

(4) I Il ST 1V

63. mmﬁrﬁﬁa‘faﬁﬁﬂ%mﬁsﬂ%?

(3) L, I afe v

(D) = el 11 1 9 andies o
(I 3T a9 o Aed 3 g & o
(TII) STwTeiers o % amg 72
(IV) w4t it 1917 & gé
(1) 1drm

2) 1dvIV

(3) 11 (4) 11 37 1

(22)




64. Lenin finally stressed upon -
(I) Nationalisation of industries
(I} Collective farms
(IIIYControlled Capitalism
(IV)War Communism
(1) I, land IV  (2) II, Il and IV
(3) IIl and IV (4) II and 111
65. Which one of these constitutes Indo China ?
{I) Vietnam (II) Philippines
(1) Laos (IViKambodia
(1) I, Mand IT1  (2) 1, 1ITl and IV
(3) I, Il and IV (4) IITand IV
66. Triple Entente, 1907 comprised of -
(I} Britain (IT) Russia
() Italy {(IViFrance
(1) Llland IV (2) L, Il and 1V
(3) 1, Il and I1I | (4) 1L, Il and IV
67.

=]

Triple Alliance, 1882 comprised of -
(I Germany {II) Austria
(1) Ialy (IV)Turkey
(1) I,Iland IIT (2) I, IIl and IV
(3) II,IMand IV (4) I, Il and IV

68. Hind Swaraj was written by which
writer 7

(1) Vallabh Bhai Patel
(2) M. K. Gandhi

(3} Raja Gopalachari
(4) Tej Bahadur Sapru

[HIS-2]

64, @i 7 ofm: WX fa

() =Ert 51 T

(1) amfes =

(1IT) Il et

(IV) 3 FgH=

() LUATIV  (2) IL TRV

(3) M &rIv (4) 1 &I
65. T TH S o g 7

YERCEGEL] (1) Teferds

(111) i (IV) Faiean

() LA (2) I, &IV

(3) IL &IV (4) ARV
66. B, 1907# & -

() feoes (Iy =9

(IIT) ge=it (IV) |

() LUV (@ L&V

(3) LI#ATI  4) I, &IV
67. B, 1882 % & -

(1) T (1T stz

(I se=it (IV) 2

() Ludrm (@ Lmsv

(3) I, STV @) I, NIV
68, 9 des « e woe o ¢

(1) #ems w18 w2

(2) uH, &, mid




69. Mahatma Gandhi determined 1o
which movement after chayr;
incident ?

stop
chaurs

(1) CharnparanSat}'agrah
{2) Khilafat Movement

(3) Non Co-operation Movement
(4) Civil Disobedience Movement

70. Lahore Conference of Indian  Nationa]
Congress in 1929 declared independence
under the Presidentship of which Leader ?

(1) Moti Lal Nehru

(2) Jawahar Lgj Nehru
(3) Subhash Chandra Bose
(4) Lala Lajpat Rai

71. Henry Fatulo, an officer of East India
Company was of the view -

(1) Indians do not prepare cloth

(2) Indians should he
prepare cloth

banned o

(3) Indian cloth 15 the best ip the
world

{4) Indian cloth is not better than that
of England

T2, Printing Press Was introduced 1o India
for the first time jp the l6th Century by
which missionary -

(1} French (2) Dutch

(3} British {4) Portuguese

[HIS-:

69. Eﬁ‘ﬂﬁvﬂﬂ%wﬁaé-ﬂiﬂmﬁrﬁli
¥ B 7 Pl R 7

(1) =97 Hame
(2) e sride
(3) ITEE st
(4) BETE ST st

70. %ﬂ%mﬂmmﬁmﬁwﬁuﬂ@umﬂ%
Wﬁfﬂﬁ%&mﬁﬁﬁﬁmﬁ?

(1) it 73 s

(2) wE®T & S5

() g9 7= dm
4) Al 99 17

71. %ﬂ‘ﬁﬁsﬂaﬁwﬂff&mmaﬁmm
TR e g7 -

(1) Wﬁﬁnmﬁ‘mm?ﬁﬁmﬁ%:

2) T B R g
Hifew

(3) Wmﬁﬁﬁm%r
(4) éﬁﬁaﬁmﬂhmﬁzﬂ?ﬁb

RE =

?z.ﬁmﬁw%mmmma’?ﬂﬁﬁ
STFEMT 9E & sy 7
(1) et (2) =9
(3) Fafes (4) geimet

(24)




73.

74.

75.

76.

7.

Geography ( et )

Identify the crop which is cultivated in the
tropical highlands of India and grows well
particularly on the laterite soils of Karnataka

and Tamilnadu.
(1) Groundnut  (2) Cotton
(3) Coffee (4) None of these

Agricultural forestry is mainly practised
in which state of India ?

{1} Jharkhand (2) Haryana
(3) Rajasthan (4) Uttrakhand

Which of the following is the mosi recent
mountain ranges !

(1) Eastern Ghat (2) Western Ghat
(3) Satpura Series (4) Shillong Series
Shimoga mines is famous for :

(b lron ore

(2) Gold
{(3) Manganese (4) Petroleum

The headquarter of newly formed
Southern Coastal Railway Zone of India
is located at :

(1} Vishakhapatnam (2) Kakinada

(3) Hyderabad (4) Masulipatanam

. Arrange the given mountain ranges from

North to South in direction.

[. Karakoram II. Ladakh

III. Zaskar IV. Pir Pinjal
(1) I,IL I, IV (2) IL, 1, IV, III

{2y LIV (4 IV, IO, O, T

73.

74.

76.

Tae

78.

[GEO-1]

E # IwmcEdT I 9W W oad @
T GEA A Fes U6 dAfteig & AevEe
7 e w0 § Iued &, # veEw dinw

(1) Tt

(3) el

(2) FE
(4) ¥ & #g T

T A g W Od AT & R Ty §

T A E 7
(1) #wrEeE | (2) efeamm §

(3) e | (4) IoETE ¥

e BY 13 gda gEe § - geg T k7

(1) 94t 9= (2) uifEHl 9=

(3) wager st (4) B Aon

farrm %t | ofas #
(1) we-sma s e Q) a8 ko
(3) w3 e (4) TR § R

T A - Rt o W dm o
Ty fgm &

(1) FEemaEmey &
(3) EEvER §

(2) A i
(4) JoEwTE™ o

B W wa SPE 1 guav @ SR 9 Ran
AT FAT |

I. FHERH 1.
IV. 47 9=

e

I. =T
(1) LILILIV (2) 1L, L, IV, I

(3) ILUHLLIV (4 IV, ILILI

(25)

e




79. Which of the following Pairs is pop
correctly matched o

I. Himalayga Mountain
Fold Mountaip

- Terriary

II. Decean Trap - Volcanic Eruption

ITI. Western Ghats
Mountain

- Paleozoic Fold

IV, Aravaj; Mountain - Pre-f.‘ambrian
Relicy Mountain

(1) Oniy1 (2) 1& 11

(3) Only 111 nly v
Person wants |, VIsSit (he Nationa]
Parks of Kanha, Kaziranga apg Dudwa
different states of Indjg. In
Which of the following States he is poy
required to move i this connection.
(1) Madhya Pradesh
(2) Utirakhand
(3) Assam
(4) Uttar Pradesh
81. Which of the fﬂlinwjng is the correct
dt:sceudiug order of sgjjs of Indiga
dccording to their LOVerage areg 7
(1) Alluvial, Req. Laterite, Black
(2) Black, Alluvial, Red, Laterite

! Alluvigl, Black, Red, Laterite

(4) Alluvia], Laterite, Black, Red

79.

80,

Iv, Wwﬁ%mﬁmm

(1) feg (2) 13

(2) =, TG, A, e
(3) =g, T, e, Fenge
(4) i, TR, I, e

(26)




82. Match List-I (Tribes) with List-II {States)

83.

84.

and select the correct answer using the
codes given below :
List-1 (Tribes) List-1I (State)
A. Bodo .

B. Naga

Nagaland
Il. Andaman Islands
C. Jarawa II. Assam
D. Mina IV. Rajasthan
(1) A-IV, B-II, C-III, D-I
(2) A-IL, B-III, C-1V, D-1
(31 A-111, B-1, C-11, D-1V
(4) A-IL, B-111, C-1, D-IV

Which of the following rivers meel
Ganga from South direction in Bihar ?

A. Kosi B. Son

C. Gandak D. Ghaghra

{1} Aand B {(2) Band C

(3) Only D (4) Only B

Match List-I (Hydroelectric Plant) with
List-I1 (River) and select the correct

answer using the codes given below :
List-1 (Hydroelectric Plant)  List-IT (River)

A. Bhakhra I. Beas

B. Pong II. Periyar
C. Salal III. Satluj
D. Idukki IV. Chenab

(1) A-I, B-11, C-III, D-1V
(2) A-1V, B-1I1, C-11, D-I
(3) A-IIl, B-1, C-1V, D-II
(4) A-III, B-11, C-IV, D-I

[GEO-3]

82. -1 (seamfa) #F a1 (7e9) § feEd

83.

T B T S A S A9 I W 99
Fig

ifererT-1 (o) w11 (7)

A. 3@ 1. =rmevE

B. T 1. #"=AF 29 W8
C. Arat 11, @89

D. | V. T

(1) A-IV, B-II, C-III, D-1
(2) A-Il, B-1II, C-1V, D-I

(3) A-lI, B-1, C-II, D-IV

(4) A-II, B-II, C-I, D-IV

Frfafad & & ®9 6 76 e § e R
% 7 # Frerdt B 7

A. B B. @M
C. TEF D. 9
() AW B (2) BwC
(3) FaAD (4) 399 B

mieer-1 (g @ie) & afem-1 (75 §
fraed @ B3 ™ FE W @ O I
H TG AT

diie-1 (Fmfage i) afeE-11 (746)

A. wrEE 1. =™
B. g I1. 9fEr
C. e 111. Haaa
D. ggFl IV. ¥

(1) A-lL, B-II, C-1II, D-IV
(2) A-IV, B-III, C-11, D-I

(3) A-I, B-1, C-1IV, D-ll
(4) A-II, B-II, C-IV, D-]

(27)




Civics ( TR )

[CIV
85. Which one of the following

IS correct 85, Pymffn T8 B g 2 ey 4
regarding Power-sharing 7 g7

(1) Tt leads 1o conflict

mong different
social groups,

(1) 7 fafier ampfe 98l & i wg
T d R
{(2) Ik Cnsures rhe stability of the
fountry. 2) %ﬁﬁwﬁaﬁﬁﬁﬁaawﬁj
(3) :ag;j{-:ll;icrmmcs the Unity of the 3) TS B o & o —
(4) It creates hurdle i, decision (4) f %—Wm % e B
making pProcess. & |

86. Which ope of the following is (he best  §g. Frefifien & # F
example of coming together federatiop ?

(1) The U.S. A

(2) India ) 9 T e (2) e
(3) Spain (4) Belgium (3) & (4) gy
87. Which of the fb]luwing Countries hag 87. Fefifes & ¥ g o & AETe T
Community EOovernment 7 2P
(1} Spain (2) Sri Lanka (1) &3 (2) gﬂﬁ.ﬂq
(3} Belgium (4) France (3) S 5 (4) mig ¥
88. Which dmong the tollowing

(1) gy (2) wErwegy
(3) Region (4) Casie (3) d (4) wify
89. The administratiye head of Municipaj 80 Wﬁmﬁgﬂﬁﬂﬁﬁﬂmﬂm%

Corporatiog js called -

{13 A [;i:j-"ﬂf {I} *

(2) Deput}'—Mayn:-r (2) I TEndy

(3) Municipaj Commissioner (3) ""FT‘-F@?HEH

(4} Sarpanch (4) #Hg

(28)




20. In democracy, power is finally

concentrated in the hands of -
(1) Bureaucrats

(2) Parliament
i3y Llectorate
{4) Council of Ministers

91. Which of the following is considered life-
line of democracy ?

(1Y Government

Constitution
{3y Political Parties
(4) Judiciary

92. In which country, the political parties
came into existence first 7
{1) Britain (2) India

{3) France {4y The U.S.A.

[CIV-2]

00. #rFda § o w1 & o e el § HebEa
ENETEER -

(1) ABHTIME
(2) H82
(3) Hoarm
(4) #fy oftag
91. Wﬁﬁﬁﬁﬁﬁmﬁvﬁaﬁ—%@w

i
(1) & &
(2) W
(3) TS T
(4) =TI
92. frm 3 H wimm Teeifos @ ofae d

For Rough Work Only
(e gl & o)

(29)




Economics ( ¥rfsmer)

93. Which of the following statements are not
true 7

I. Employment in the service sector
has not increased to the same
extent as production,

II. Workers in the tertiary sector
produce goods,

1. The activities in Primary
Secondary and Tertiary sectors are
not interdependent.

IV. Most of the
unorganised
Security.

workers in the
Sector enjoy job

Vi A large proportion of labourers in
India are working in unorganised
sector

(1) TandIII (2) III, IV and Vv

(3) Llland v ¢4y I1, III and 1V

94. Which of the following is not a function
of the central bank in an economy ?

(1) Dealing with foreign exchange.
(2) Controlling monetary policy.
(3) Controlling government spending,
{4) Acting as a banker's bank.

95. If saving exceed investment then -

(1) National income rises

(2) National income falls
{3) National income is not affected

{4) None of the above

il

[ECO-1]
03, ﬁwﬁrﬁaﬁﬁﬁaﬁwmmﬂm%?

[ O & ogum & #7 d F gg e
T T F gfs W oad b

I!.{ﬁlﬂ?ﬁﬂﬁﬁ‘ﬂﬁ?ﬁiﬁﬂﬂﬁaﬁﬁﬂ
FUET HY B

L srfes, sftirs ot qfes g qrep
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Which indicators are used in the Human
Development Index (HDI) 7

[. Standard of living
II. Education

I1.
IV.

Life expectancy rate
Condition of environment
Only I, Il and IV

Only 1, IT and 11

Ounly I and I1

All of the above

(1)
()
(3)
(4)

97. Which of the following statements are

not true ?
1. COPRA applies only to goods,

[I. India is one of the many countries
in the world which has exclusive
courts for consumer redressal.

II1. When a consumer feels that he has
been exploited, he must file a case
in the District Consumer Court.

V. It is worthwhile w move (o
consumer courts only if the
damages incurred are of high
value.

V. Hallmark is the certification

maintained for stundardisation of

jewellery.,

V1. The consumer redressal process is
very simple and quick.

VII.A consumer has the right to get
compensation depending on the
degree of the damage.

(1) Only I, II1, IV, V and VII

(2} Only land VI

{3) Only L, II, V and VII

(4) All of the above

[ECO-2]

96. Fr=ffEs § M AraT | gos® & dehas
% 7 W E g 7

97.

1.
1.
I1I.
IV.
(1)
(2)
(3)
(4)

EICE T

farenr
ElcE i Eiey
TaET
Faa I, 1 AT IV
Faw I, 11 o 111
Faw [ A I
I |4l

Freaffad 8 4 9 o 599 59 TE B 7

I11.

V.

V1.

VIIL.

(1)

(2)
(3)

U JOEOT At (COPRA) fam
TEH F g L

ad g F 3 i OF uE B O
I FErT § e @9 S
B

o el gudE & W ¢ oSEE
dimer gam oAl 3@ P IodiEm
IEwg 8 9y WEE & SO
I |

99 AR @ g oEF & ad
JUAET g § AFT @THYE B £

B STHE F WAl
e B IO €

Ui FETT g dgd A @R
T & |

TN F OIH B R B agae
YA T F ST

e [0, 111, IV, V a7 VII
#aw | AT VI
Fae [, I, V & VII

IqLE O




98. Which of the following statements are
true about globalisation ?

. Developed countries have always
been more benefited from
globalisation.

II. Globalisation has led to
improvement in living condition
of workers in the developing
countries.

L. Globalisation is the process of rapid
integration or interconnection
between countries.

IV, Indian cement industries have

been hit hard by globalisation.

V. To achieve the goal of fair
globalisation, major roles can be
played by MNCs.

(1) Only I II, Il and V
(2) Only I, II, I and 1V
(3) Only III, IV and V
(4) Only 1, IT and III

99. In a SHG (self help group) most of the
decisions regarding saving and loan
activities are taken by -

(1) Bank

(2) Members

(3) State Government
(4) Chairperson of SHG

100. We can obtain per capita income of a
country by calculating -

~ (1) Total income of a person.

A2) By dividing the national income by
the total population of a country.

(3) The total value of all goods and
services,

(4) Total exports of the country.
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98. I % At F Prefted § € €9 ' o
RV

. @€w 4 Refa 3w g9 s
AT B E

1. s & fammmdia 351 & st 9
frafe 7 & gaw g &

I, 3o, Rfm 3 2 49 ofe
HTHTT A U T & #
oferar & 1

IV. wrdE dide @@ demer | agd
T 20

V. adiEmr & OmdTE st # oo §

TFOEE FEEE B o 9y S
El

(1) Faa L 00, M &V
(2) Faa L, 10, I &fr 1V
(3) Faw 01, IV fr v
(4) Faa1L, 1 e 11

99. Feit = wem o § qw dm wmor S
Tiafear | weftd afamisn fofy @ 83 8 7
(1) 9%
(2) wEE
(3) T I

(4) =T TEE 69E W oAy

100. B 2o i ufy =fm o & s 2 R
&6 YR HA B -

(1) % afF $ 39 97 Fi

(2) 39 3 % WA @ K ;A g
FAEE | AT 3T

(3) Wit TGS oMY Farstt & @ gew A

(4) 20 % % Py &

(32)




